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QUESTION 1

What can be identified as the most likely reason for a delivery split in a collective delivery run?

A. The shipping conditions of two separate items in the sales order differ from one another.

B. The sales order line items have the same route and the same shipping point, but different ship- to parties.

C. The physical weight of the total line items exceeds the capacity of the truck that is being used to deliver the product.
D. The loading group of one of the items in the sales order differs from the others.

Correct Answer: B

QUESTION 2

Based on which of the following dates is the availability check (ATP) carried out?
A. Requested delivery date

B. Replenishment lead date

C. Material availability date

D. Goods issue date

Correct Answer: C

QUESTION 3

You are using customer hierarchies. The discount HIO1 should be based on the values maintained on the different
nodes of a customer hierarchy.

Which option allows you to integrate this discount into your pricing strategy?

A. Setting the hierarchy flag within the condition record of HIO1 for the main node. This allows the maintenance and
automatic determination of discounts based on different sub-level nodes of a customer hierarchy.

B. Implementing a pricing procedure that contains the condition type HIO1 several times according to the number of
levels of your customer hierarchy. You also need to set a priority within the pricing procedure.

C. Assigning an access sequence to the condition type HIO1 consisting of multiple accesses using the same condition
table. During each access, a different node is filled as the document field in the source field HIENR.

D. Setting condition type HIO1 as a structure condition. You can maintain records based on this condition for the
different hierarchy nodes. These will then be found automatically by the system.

Correct Answer: C
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QUESTION 4

You have been asked to change a process so that during sales invoicing, any manually changed pricing elements in the
pricing procedure for the sales document are copied from the sales order to the billing document unchanged, but other
automatically determined conditions are re- determined.

Where is this behavior controlled?

A. In the copy control at item level

B. In the billing type

C. In the condition type

D. In the item category of the billing type

Correct Answer: A

QUESTION 5

Your customer wants to use warehouse transfer orders for picking when processing a delivery using lean warehouse
management.

How do you achieve this? (Choose two)

A. Activate the sales document type for warehouse management.

B. Activate the sales document type for lean warehouse management.

C. Activate the storage location as relevant for picking.

D. Activate the assigned warehouse number as a lean warehouse.

E. Assign a warehouse number to a combination of plant and storage location in the organizational structure.

Correct Answer: DE

C_TSCM62_65 VCE Dumps C_TSCM62_65 Practice C_TSCM62_65 Exam
Test Questions

C_TSCM62_65 VCE Dumps | C_TSCM62_65 Practice Test | C_ TSCM62_65 Exam Questions 3/3


https://www.pass2lead.com/c_tscm62_65.html
https://www.pass2lead.com/c_tscm62_65.html
https://www.pass2lead.com/c_tscm62_65.html
https://www.pass2lead.com/c_tscm62_65.html
https://www.pass2lead.com/c_tscm62_65.html
http://www.tcpdf.org
https://www.pass2lead.com/c_tscm62_65.html
https://www.pass2lead.com/c_tscm62_65.html
https://www.pass2lead.com/c_tscm62_65.html

